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H 01 I need two bottles of ink.
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G 01 How old is your father?
02 How much is this bag?
03 How often do you clean your room?
04 How far is your school?
05 How heavy is this product?

H 01 How do you go to school
02 How much are these shoes?
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Chapter 03 EXHAII-II

) 03 Mom sometimes listens to classical music.
Q 5-_. L SARHAIR | . _
20 ; 04 Mike never tells a lie.

"""" 05 | usually go to school early.

L - OO =2 .44 F 01 always 02usually 03 often 04 never
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@ gol 2x2 2 Build up : 03 =S 1005014 2=t
§ 04 2E A2 EEsitt
A 01is 02 has 03 goes 04 plays 05 comes 05 2 He g= cho|ct
06 watches 07 studies 08 listens 06 Lol Exle HE & Alof| Zlofl QAIL|?
09 teaches 10 fixes 11 dresses 12 calls 07 Lt= 712 Hpo|2al 20| ==t
13 sings 14 does 15 gets 16 copies 08 O|Lt= oY M2 |E =t
17 buys 18 catches 19 cries 20 enjoys 09 J45= i Stwof| XFHHE EfT Zict
21 becomes 22 swims 23 cooks 24 plants 10 Tomt Mike= F=2oict a4 2235t}
25 likes 26 tells wash Mk STt boil BCh  special St
B 0133 XiF 02 84 03 =i ~ ot brush \tt, &2attt  ride Eitt
04 M=z, 7K 05 O, 28 06 oig ofd 07 ol
08 Yoot 09 ¥egoit 10 Fzoih 110y E 01 LE 5 92 &,
12 OHY & 02 2| MU gt SIX|T FIESHAIC
: 03 YOH= M2 DHSUS SOt
| 04 Mike's 23 HAZS 5ix| o=ch,
# g3oz 24 Training 05 Lk= oiii stmo &5 Zic

x|
friendly £1&Est 232

C 01 have 02are 03is 04likes 05 comes
06 study 07 are 08 tells 09 are 10 watches

classical music 1&g A 32 lie HAY

D 01 has 02 washes 03 boils 04is 05 has  F 01 Marys= 84 2% 2ojdt,

06 do 07 am 08 brushes 09 rides 10 study 02 Peter= 7l ot S0 £7Z SiCh
E 01 1 often tell good jokes. 03 Bill2 3& Al Zict,

02 Our teacher is always nice and friendly. 04 Jane2 2= TVE EX| Y=t



]
# sasoz 4= Upgrade

G 01 goes to school 02 has lunch

03 does her homework 04 goes to bed

01 runs very fast
02 always brush, three times
03 usually takes a walk

01 Sue= 2% 8Al0l| stwoi 7HCt,
02 Suex= H20| EHals H=Ct
03 Sue= 2% 6A|0| £XIE i
04 Sue= 2% 10A|0f &XI2{ ZiCt,
go to bed &AM 7ttt a.m. 2
noon 2, % 12Al p.m. 2%

S MAIE °._H:|'.

St et

Grammar Practice =2 pp.51-54

)
# gol 2xi2 g Build up

A 01 playing 02 coming 03 liking 04 studying

05 dropping 06 inviting 07 lying

08 swimming 09 having 10 getting

11 listening 12 washing 13 stopping

14 digging 15 seeing 16 doing 17 dancing
18 raining 19 smiling 20 jogging

01 is running 02 are laughing 03 is singing
04 is sleeping 05 is jumping 06 are fixing
07 are eating 08 are walking

03 22| Y2 st Uk
04 Ui GiSd= Xt Qdct

05 J4= Flo{ED Unt

06 OS2 1X|1 QUct

07 GiXiotOIS2 Hu et

2= dn
h

01 playing 02 doing 03 sleeping 04 lying
05 is baking 06 studying 07 isn’t

08 reading 09 isn’t 10 Are

01 am reading 02 are going 03 is drinking
04 is drawing 05 are playing

01 are, eating 02 is washing 03 isn’t doing
04 Is, snowing, is 05 are standing

01 is hanging 02 are watching
03 riding, are playing

01 Jennifer= Llot=E X|11 ULt

02 He XIZ 2AS st %I—I?

03 D|2k= EHolM Xtz UAct,

04 L OF7|7t An} ofl &9 Ut

05 22| °*Df 9'='01| ML
g

08 Chris= M
09 Mariaz= <
— OfL|, 24= JZX| ot
10 Harry2t Ron2 Xxlg TVE 21 ULI?
lie &Ct  bake =Ct

HJIO
min
K
o
r
N

01 L= XIg M2 A ACk
02 252 Xz wslof 7t AL
03 22| FLh= XIF 70l 8t ZHS ORA|T UCH
04 Mary= XIg 228 J2|1 Aok
05 Tomit Mary= Xlg S7E st UC
01 Elena= Holl 222
02 Ho| B22H2 FAUS ot AALI?
— RS2 TVE E1 AN
03 Jim2t Tom2 XEHE Efn UX| ¥t 252 HHIE
5t Uct

hang ZCt  rugby =H|



l
@ sazoz a2 Upgrade

G 01 Mary isn’t(is not) having lunch at the cafeteria.
02 Are the boys playing soccer in the
playground?
03 Are students reading their books in the
library?
04 The children aren’t (are not) playing with balls.
H 01 Where is Mary going?
02 are swimming in the river 03 It is raining
04 Tom is washing his car.
05 They are not taking pictures.
06 We are going to school.

G 01 Mary= FLHAZAN Falg H1 UX| @it
02 EXol0IE2 2SEolk = '

=22 pp.56-59

Actual TEST

010,® 02@ 03®@ 04® 05® 06 @
07® 08@ 09O 100 N® 120

13 They are playing soccer. 14 @

15 No, he doesn’t. 16 @ is siting — is sitting
17 What is, eating 18 always 19 in the gym
20 Is Tylor taking a shower

01 © @ (2& 171+ XS 172 BLi= SAts OFXE XkS
2 ottt o £ oS -ingE 20|22 SAt cut(X2ChH2
-ing YEi= cuttingolct,
® -ie2 BlUE SAE jeE yE IX|T -ingE 20|22
SAt die(ZEhe] -ing El= dyingOlct,

02 2(=) fY A= ST}
SAZt takesO|22 3213 T3 07t 2o SITE
children2 ‘0to|Z 0|2t 2J0|2] 24 HALO|CH,
take a walk AHHSICH

03 22| ofoiLl= oHY OF&! 5AI0l LofLHAICE
AT0|T VROl HES SRHANEZ Md| 07|

el
047t 321 B2l My mother0|22 gets7t LSCH

04 O A: He B& L2 sh?
B: L= HAE 7(Ck2(x Lo,

@ A: Jane2 OC|Z 7t QUL?
B: J4E HHXIS St U0,
@ A: JU4Es o8 ML
B: 8, O thf etEE M.
@ A: He Foll 7k= soL?
B: 8, 1.
® A: ol 87} 21 Uu?
B: OtL|, JZX| 9ot

O YAHeE XIF stn QU= U= Cigstn Yooz
What are you doing?22 ZZalof efth What do
you do?= 2gE 2= E20ICt
@ o2 7t JY=XIE 21 Y=l stn Y= U= Hotn

@ SIS o220z 21 US5Z Yes, | am.Ol2t
= (0] el
® No, it isn’t.2t1 EaHoF St

wait 7|Ct2|Ct

£ 2= 0l thall THY oj2tn ERiesz B,

ML 2h= 29| HI=EAL always7t LS},

06 Janet 1149 GiEd2 XIg S20A 21 Uk
07t = Fo[2t 20|, now(X[F)7t U2 Z SHRY
AN E2HUS & 2 Uk M2k walkL are walkingOl

EEL=]

07 A: Kate= ofClofl UAL|?
B: L2 g,
A: J4=
B: JU4=
miEp
doing? 22 HI5H0f Sict QJ2At Qs SIXHZIMYE 22
=22 (YE2At+am/are/is + FH+SAIEE-ing ~Mel ¥
Ei=2 #ct

oo 4o
»Q

o

on

Kl

°

-

~J

9'2

(ST
LTir nin

o K

A

08 @ Jacob2 +IXIM £+FS st ULt
@ 4ol oHU= Ee Ha
@ Uz XIF RS Ha L7
@ J4es SN x2S
® Jaket L= AIRIBEE st Ch
® — swimming, @ — Are, ® — eating, ® —
are=2 IIXOf Sict,

pool 840|, =3



09

10

n

12

14~

@O Hz HSA0] ULI?

® 50| el ZIFS0|L?

@ Uz b7t 2ZL?

@ Tomzt Jerrye &7 A7|E Bt QUL?

® o] ZOXISE HELI?
©, ®, = bedAt

OIEE, W= FMTAY ==0l
=220

1 F0{7F 2Q1H0[AHL 3Q1F =022 25 AreE Mot
SEX|ZE D2 YHtSAt QI220|1 F0{7t 2120|122 Do
£ MoF BiCt

ski A7IE EIC}  together &7

Li= AIZ0| Al ZE2YHE 55 WISt
HIEEAE UEESAE AO|LE beSAF FO| 2Lt visit2
LHISAIO|E 2 visit 20l A0 often visitO| =/0{0F SiCt,

@ L= choh otx|
@ SIS0 AZS 7l
[m3]
o

® 352 Xz

% = SIHAIRIS 20
@ — When do you usually getu
@ going — are going
® haveing — having

® isn’t like — doesn’t like

A: Lisas 2 Z0t5tL?
B: 8 4= XIE.L MS o

QHI=A} 9|2

OIO.I
2 (Do/Does +FH+SAtEE ~7)9
A20|= DoesE #

Ct &3 B7F now(XIE)E MM st U= LE 2ot U

01IA1 OfOIEOI E7E otn deoz ‘&
play soccerzt= Eaiut SixizIdSlare playing)2 M
M OHES £0h

15
Lte| 0IF2 S YLICt Li= &4 ofdo| 2% LofELCh
L= IP‘U-IE Ef 2 = 9AlOH AR
guct L=
CHoH TSt
of 22| 71=a %

et S0l L
LIk L= 4ol Zofl gLk 74
= TVE 5l =X

16

17

pEUC M= 3= SorRuUc HAk2lo & of uxzet

=

RS9l StE Lufol chHet 2022 ¢ 29| MEe= ¢
W2 A2 @ P59 5t Uutoct
@ glsol ol @ gsol IHE
@ giso| studg  (© USTt 7K EOloh= AZ=

A: 2ls=TVE &4
B: otLle, JZX| S4&LICt
o 20M TVE Msinever) EX| =Ctn
2Ho| tHES stz 20| YTt AHLSAt 2|220] CHet &
40| tHE2 (No, F0{+don’t/doesn’t.)0|Ct. F0{7}
3213 H0|22 doesn’tE MO} SiCt,

glooz

o>'-|

07l Tom2| Zo|ct Tom2 12| HollA &S i1 QU
J9| HSM2 Amol| 2ot UCH O= ADEE AYS ﬁh_'_
ACt 19| offiLl= HAS HAstn ) 19| ofXl=
HOIA MXIE ot QL
@ SAt sitQ| -ing&2 sittingO|Ct.
living room 71  garden ¥

o] MALS St Alhol| AAL?

A
10
=2
=
el
=
i
°
i
tu
40
Q
mjo
12
ol
£0
rr

SU=E XF Ads ACH dld= Hi=
| =

2IE ZU—EIE H°e M AN =0 HIERIE
= Zlct
18 Q: RL= ot If—’.‘— HHEE'.JEJ% x|4?

20

A: 4= %
‘e H':". MM =0 HHE”JEJ% Flctn ooz E

A, AHILF 2h= Kol BI=2At always 7t ST

: 7= XIZ ool AY?
A: = A2 A0l
FlL= XIF MsEoM =R

BT ALY Bl olnjol BRI
Are/Is+Z0{+ SARIS-ing ~?) HERZ £ct. F0{7t 3¢l

2 H=0|22 [sE Mof SiCt



Chapter 04 AN

Cunit [0y ANETIY

[OIIR2 BHAD |--eovvvvvmseemsremsnineiii 22p.62
Lb= Ofxl| &tmoi| X|ZZHC
OS2 o i st SACE
SXofl A4z A 8 OF2[7F UALCL,
SXIofl A7 A Z of2|7F UL
3 Tina= OfAlglol| & ZiCh

soundly &, £&3l
Grammar Practice =2 pp.63-66

l
@ a0l 252 e Build up

A 01 played 02 learned 03 washed
04 listened 05 studied 06 watched
07 hurried 08 begged 09 stopped
10 needed 11 worked 12 helped 13 tried
14 worried 15 loved 16 talked

B 01 was 02 were 03 went 04had 05 gave
06 knew 07 came 08 sat 09 made
10 ate 11 read 12 slept 13 took 14 wrote
15 did 16 got 17 bought 18 taught
19 brought 20 ran 21 saw 22 cut
23 stood 24 thought

|
@ 2xoz 2¢ Training

C 01 bought 02 ate 03 lost 04 met
05 carried 06 loved 07 made 08 studied
09 died 10 were 11 stayed 12 were

D 01is 02were 03is 04 was 05 were
06 are 07 were 08 was

E 01 listened 02 wrote 03 went 04 did
05 lived

F 01 walked 02 rained 03 liked 04 had
05 played

G 01 took 02 caught 03 invented 04 came
05 gave

C 01 Annats 7|49Z 70l

XL
02 L= Erez M7 o 7HE W
03 Chad= ZEQ| HFE 0|,
04 Amy= ATS0IM 9| RFE BRLCE
05 92| L= a9 7iEE 38
06 EZ|N2 20|2E OFF HO| AU
07 L= UE floil A2|ADAIIES BHEUCH
08 IS2 Ofx| AIRFSEE 3iCh
09 OI0IZ ME&2 2009E 620l =ICH
0 ZiH0]| 0 &0ll= HWZLIEIL HUCL
11 O= O3 SAIZER] REX| 411 7HOY QURACH
12 42t L= 2 74 1040(UCt,
mug M3zt gift shop 7I€= 717l button &=
shopping mall %=  airport 38 oak tree HZLIF

HJO
0|:I
ol
|
U
fo
N
i

01 1= XIZ i 7|8},
02 Johnt Mary= ol 1240|UCt,
03 Amy= Xl &=20f ot
04 Lt= OfN| m{=&ich
05 252 1 YAlofl oF MapiLct,
06 Johnzt Li= X =twoi QULCt.
07 Y= mf of RHCH
08 zd 0iE0l= o F=ICH

player &= cold &2

01 O|Lt= Ofx| 2242 SUCL

02 Mike= OfAlIgtof HX|Z ALt

03 Peter= X[t Ao SS2of ZiCh

04 Lb= 8t AlZH Fof| &IE SHCEH

05 22| 7IE2 53 Fof| Q=0 AUCH
zoo S=¥

01 Lh= =hFofl stwol| Zofzict J2iu XIZ2 HAE Et
1 stwof ik

02 OfAlEioll= b|7t YT J2iLE XIZ2 GM7t L
3 22| qHUAME Ol HES EOotstAlCt 2Lt XiF
2 722 Z0lehlch.

04 Jane2 I %2 =8 JHX|1 UJCt J2iLt X 1
= =0] gict,

05 Lto| o{sSA2 ol moke=E SIF3MCt J2iLt XIZ 2
L= Hiol22lg TSt



G 01 Tomzt Mikee Ofx| S&of EHAIS
02 O=2 K|t 2ol o] ZolM V|2
03 = 1876H0]| T3V |E LHIACE
04 J4= Ofx| i U™ stwof Rct
05 J&2 0l ©™ofl EvaolAl T MES FUCE

(=)

invent ZHslCt

UL,

present M

EtT ZtCH

@ sasoz 42t Upgrade

H 01 studied math 02 met Minsu

03 played badminton 04 went to the library
05 watched TV 06 enjoyed EXO’s concert

I 01 listened to music 02 played basketball

03 read a book 04 ran

H 01 tlol= Xt 2ol 5t SEICE
02 #HI0l= Xt 2ol 2+E 2HRCE
03 #HI0j= K| QU0 HHERIES Hct
04 HI0|= K|t S Q0 =AM ZiCh
05 HI0l= x| U0 LH|TS Rt
06 HI0|= K|t EQYUO| A4 ZMES EZUC

T 01 TomS ofH 20N S22
02 Mike= OfF| 220l 7= gict,
03 Amy OfF| ZROIA S 9|
04 Ted= O ZR0lA HACH

'.",. ‘ rv:' e
unit f@ o T8
).

AAHIL] B E 0|23
5
[OIE BHAT [oeoveeeveemmmmmmmmmmiiiiiessessesssssseeeeeeeeeee o=,
2 L= HiTZX] 44T,
OS2 ER6HK] &£ULCH
L= L SHIE okX| UL
rich 258t 212!
3 = QAL?

— 8, T30}, / ojul, IZXI 40l
L= HY7} T|?

— S, T30}, / ojul, IZXI 40,
L B2 ARIS HIL?

— 3, aR0]. / oL, 2FX] LU0,

Grammar Practice

=22 pp.69-72

# siol 2812 712 Build up

A 01 wasn’t 02 didn’t 03 weren’t 04 have

05 didn’t 06 didn’t 07 weren’t 08 do
09 didn’t
B 01go 02Did 03do 04 Were 05 did
06 did 07 Did 08 Did 09 did 10 Was

10 wasn’t

A 01 f 2y Hjm=X| UCH

02 U= Juf L Z20f kx| LU,
03 I52 oAl A2l SiICt,
04 Mary= IXRO0IM £2 AlZLS EUX| 4UCE
05 1= Oofx| a4 OHUE &%
06 1 7|xt= oA O HollA HEX| §UUCH
07 Tomzt Jake= 10 TmESHK| LULCE
08 Tl~= OfXl 12 MIE SHX| 4UCt

9 Rel= oML TiElE &7IX| LRUCH
10 O M22 =X| ULt

station <&, A%

I‘EJ‘RAW

B 01 U= ofxl &mol| ZtL?
02 U= XHtEo 28
03 U= X|tRof 22
04 Mary2t Tom=2 oA mE[0]| UALI?

05 U= O & LS ;Y
6 ZHH0]| Hel (ML= ofC|oll HRE2ML?
07 Xt Lol Mary= HILIAE HLI?
08 U= ojZlIEhof] MRS JAL?
09 el FLk= oA ol& Alzholl RRE TLI?
10 X|HEofl 3 o] Faoll =0 AUL?
top &, B

L|?
HLI?

Hi

A
=3
=

!

@ =30z 24 Training

C 01 wasn’t 02Was 03didn’t 04 Did 05 Did

D 01 Were, read 02 did, saw 03 didn’t, played

04 |Is, was

E 01 1didn’t go to bed early.
02 Tom was not (wasn’t) tired yesterday.
03 They didn’t play with a toy car.
04 | didn’t do my homework last night.
05 Hojin didn’t eat lunch with his friends.



F 01 late for school last Monday
02 Was Mary very happy
03 Did Tom listen to music
04 Did Sophia go to John’s party
05 Were Nora and Mia busy

C 01 2= ZEo| oAt

02 dl4= WAFRILI?

03 I52 Zils| SFsHK| LUCH

04 He HH|IME 247

05 Mary= M2 2UL?
policeman Az

D 01 A: 8 AlZH FHojl He= =AE JAL?

B: 8, 1301, L= 22| XSS S0l
02 A: U= Ofxl SSJ0ll Z4L?

B: &, I%0. Li= IX0IM B2 SESS EU0].
03 A: Janedl Mary= 1if HHERIES FLI?

B: OfL|, IS2 J2{X| 40|, I=2 Ef
04 A: = XIF 1240JL?

B: OfL|, TZX| ot Jld= 0| 1240|RA04,

magazine Xl table tennis &+

T

Ao,

E 01 Lt= 9% Xt 7tX| 2U4ct,
02 Tom2 OfA| =S| SLRACE,
03 I52 HZ XHE 7HK|D SX| LUCH
04 Ltz ORI L SKIE SHX| ARATH
05 &%0l= 19 ZIFsn & Malg HHX| it

F 01 4e x|t g€2of stwmof x|Z3HL?
02 Mary= Ofx| F& A=3UL?
03 Tom= oMo Setg SAL?
04 Sophias Alt 2ol Johnel THE[Of ZEALI?
05 Nora2 Mia= 1M HBEL|?
busy Hh#

l
@ sasoz 42 Upgrade

G 01 swam in the river 02 didn’t, saw a movie
03 was, studied 04 did, went to the zoo
H 01 Did they enjoy the party?
02 What did you see in the zoo?
03 Tom was not (wasn’t) at home
04 She didn’t go to school
05 Did your family go to the beach

G 01 A: 2l X o RAS JHL?
B: O= Xt 2ol ZolM +=FS 3Hoi.
02 A: Jack2 A&t ¥E‘a*01I SO0|SHol| Z4H?
B: OfH, Z2{X| gRt0f. a= Xt 2ol S=HE 2o
03 A: 0l X 2ol =AMl UAALL?
B: S, 130l 24= AlgE floh SF0.

04 A: Emmax= X[ 2ol ofTfof] Z4L(?
B: Jd= X[ FEo SSE 201,

amusement park =0|3&

Actual TEST

01® 02 03@ 04D, B® 050 06 @
07® 08@ 09® 10D 11Q 120

13 @ 14 No, she didn’t.

15 went to bed at 11 16 Colin didn’t bring
17 gotup 18 missed 19 was

20 Yes, she did.

=22 pp.74-77

01 © @ — came, ® — went, ® — stopped, @ —
hadZ MO} SiCt,

02 O Mary= OfA| HILIAE R
@ JH= 1 Aol o< #H=3FHC
® 152 X2 Fof ct.
@ UE 2 2 Holl M2 Hdct
6 Jane2 oAl =HIE FHCH.
O 1HE LIEHHE L0l yesterday?t &H Moo
2 MAARZ Mot St mh2tM played 7t =l0fof St

03 X|t720] =0| ®o| Rt
snowe= A & %= FAo|2R2 H FZ6HoF st 1t
HE L= Yl last winter7t A8 was7t YR
Ct (There was/were ~)= ~0| It = 2lojo|ct,
04 O TomE ofAligof| HX|S 4ct,
@ Jane2 1 OF&lS HUCH
@ PRE Ofd| &wmof X|ZH3HCE
@ J= 25 OfEd| HAE =X
® 1 AA2 xF 19| =XME st UCh
@ Jane had breakfast then.
@ He missed the bus this morning.
® The boy is doing his homework now.
miss =X|ct



05 @ A: Kate, U ofcloi| QALI? : @ X0l ZTE kx| (LUACH

B: 4= Zoil JAA0H. ~ @ OO|ZSOof|A| EIESIX| (UTH
@ A: He 3 ZE|oM EH2 Al BRILI? : ® GRof| Z7EX] (AT
B: 8. O

@ A: I= = Lofwtn? 09 A: U= ZZE AUS L7

B: 8, J= =7 Lojkiod, B: OIL|, T2{X| 20|, L= HXIZ 4401,

- K|t =ohg| 2ol &H
@A Xln_ TEOH T A= I—l? NO | dldn ti I:roHoE OII:||_|-%A g| |.7.|od o|?__1_

2
B: Lk= &8 J2|1 o, o=z %918; oF 4 oiC} EXo| fEte ooz (3)0] of
® A: stls0| HEsHHESLITI? U Gt erair
B: 4|, a2si&L|ct, . EJXI% s oL
@ you(H)2 E2stn Qo= (Lh2 Hafof st wh © UL Sois s
2tA I’m at home. 0| YTt : © 4= TX= LI
@ Did2 21 /952 Yes, | did.2F EHof 3ttt , D Lo o 3L
@ DAMNM C220/Z2 MAAME MM | drew
pictures.2t1 EaHof ST,
® beSAt Were2 21 /O0Z Ves, they were.7t 10 AT T AFS2 ORI TVE B0 =
EERS - B: O, 2% 0L OS2 MS 0]
draw 2ict ‘ UBrEAle] 7Y CI2RE B Wi (Did+F0I+S

AFRE ~7)o &M= 2201 mEtM SAFEYR! watchE M

OF 5t1, UHLSAt read[ri:d]e| HHE2 read[red]O|Ct,
06 (27) & AlZh ol =M=l AAL?

E7hel 282 F0{7t youll, HAE LiEt= &
two hours ago7t ARoH, ‘~0f UAL?' 2| ejojo|=2
beSAtel THE Weres UoCh (=IDAY wzio] delsAe] 21E FEES S W= didn’t+ SA
WereZt S0{710} stz A2 F0{7t your mom and
dad® =0/ ‘XI'-f01§01| ~0f| UKAUL? 2t= oo|2

beSAtel TAHES Mo st @olck. @, @ Do, @= 12~13

Was, &= Are7t OE*E,'JEL : Ofrl= EQEOIT J2iA L= stwofl 7EX| 24Ut L=
© L= Mary S e 2417 oo Fie ¥ 3 WS MOl f2ls M BAg HY
@ Ofd| 49| ofT{L= 317} LINL? . Ot HA AAL £ 22|= FotoM 572 3ich YUz
® 1 oloIS2 BEE AIUS 5tL? OIURCE sTE L7t 71E Zotshe AZ=O0|CH

@ X[Lo{20f| {2 2iof, Ot= F2of| AP ~ yard SIS Siojet
® Ojufet £70[= XIZ 124U :

upset 3ttt 712 L2 - _ _
12 ® O ool st YS Lstn JASD= seell HY

saw= MO sict,

07 © ~OILI? 2t 21 UCTZ heEAle| IAHH 028
iEA:HOF St 07t the movieZ 40122 Was7t & 13 D OfFl= B4 900[9te?
' @ OfF| Dl O MBI HULIR?
@ 2I%= ofF| ofCloIM STE JLER?
08 152 BRI QUQULH ~ D4l Of| AR ARIS BRILIR?
UHLEAL| TE HMBL (FO{+didn’t+SARIE ® DI47t 7k Solste @52 291017127
~)O= Mof BiT} m2tM didn’t Hlols SAMREO| QfoF 9| Z0IM TIA7t OfE HEIE ReXl= & 4 eict
STt @W= beSAE MA They were not(weren’t]) O oMl EQYO0IILCE,
kind to the children.o| El0{of &tct. : ® sioolN 57 gt
D S0 HR2X| (UACH : @ OFF AOIURACHT FCH,
@ Zo|M B2 B17|E FX| (LATH ~ ® 745 ZofsHs 252 STo|ct



14~15
Alice= BH0IAM LJCt 1
= 27 9Alofl L= AIRRICE 6Al0 1= Foil 2ot 1

= 7A 3020l ME= HUCE MY AAL 2, OHE TVE
OFF F7IE BTt = 11 Al HXi2(oll SUCt,

He EEol Zof chElch au

= o=

a7

14 Q: Alice= 8Al0]l Y2 AR
A: OIL|2, TI3X| YLUELICH,
UHESALS| A o|EE
AlZfSH=H, didE 01&ste] Eetch oAl ¥s
Ho| tiEh2 sHiof st=dl, o= didn’tS Lt

Ol CHet CHE= YesLt NoZ

NS SIE]

2x

15 Q: Alice= 2 Alofl Hxt2loff SASLI?

A: JU= 11 Ao EA2|off SUAELIC

2 22| ofx|af £20lM 220 et = &+ U
SAe Y REES T

16 0 8| et = el
G (didh't+ SAIEE)O= 2

17 25 oFEloll Li= 52 ojwict,
get up(ZoiLichel S got upoItt.

-

18 L= HAZ =Xt
miss(ZX|CHe| MHHES missedOlCt,

19 Li= stuof| X|Z{34ct.
Z0{7}h [0]22 beSAt2| 1HY wasE Mot eitt,

20 Q: Jenny= %
A: 4, asH
UttSAte] A olF =20l CHet HEE YesLt NoZ
Azfsh=dl, didE 0I8st0d Eeicth 2Hd 21 He|fes=z

Yes, she did.2 EaH0} Stct,

toll H2l7t 2SI
ct.



Chapter 05 AlM| Bz} Oj2HAIR|

Q9 SIXHAIRIQE AR B 01 U ofstitiol] MESIRIE £2 ol
5 02 152 Ofxf 0] SLof UACH.
: 03 AlZ+S =o|ct,
[OIS2 BHAT [--ovvvvvrvssremsernisreisniisiii s =2p.80 04 X|F= EfY T2 =rf
1 Lp= X2 1240(Ct 05 Tomzt Jake= 04 H{TRC
Lb= XHAo|| 19 Ato|QiCt 06 2& Lucas= E& X4 AlAL =0f| A=z Sict
Lis m3o2 SO6HA| s, Stk iie Mk L
Li= HE2oS S0k6tx| Ut
He £7= 57 - C 01 2= ool 29 SHIE FCk
Hs mope2 HzEHL? 02 st=2oil= ofd 720ict =0] Lol LH2ICH
pop music &St 03 ow 1 AFSS stmof XHAE EtT Tk
2 Lts MAE EfT 8@l 7ict 04253 Ao Fieol L7
LH= HE Ao Lojutct 05 0=|7il—° Jf @& x|oj2ks YACH
sie MBS 2 Zict only 2%
£ T2 9 Wit JhERialTE it :

(2220 A2H EHSE= UCt)

west MZ  silver lining 3122 &, #2 Y

3 Lte um axtlol Sk ]
L= HE ZojA stmol| Zich % £xoz 2¢ Training
Olet! g2 FEB S S HEAH, D 01 Were 02 Do 03 Did 04 Does 05 Do
build Er8Ek Rt famous FEt 06 Are 07 Was 08 Does 09 Did 10 Was
E 01 wasn’t 02 Did 03 does 04 come
F 01 were 02does 03 Do 04did 05 was
Grammar Practice 22pp.81-84 06 are
l G 01 didn’t 02 didn’t 03 were 04 were

# gol 2xi2 71 Build up 05 plays
A 01 XA 02 TZAIR D 01 U= 5 A7 FHO| SAR UL

03 THAIR 04 SIRHAIK] 02 4= X2 £2 7HR[T UL?

05 SRIAIH 03 2UiE ofxl HAS EfT Stmof 712
B 01 had 02 were 03is 04 22 100=0N B&LII?

04 goes 05 were 06 takes 05 Janeit Mike= F0ICt HILIAS X|L?
C 01did 02snows 03 rode 06332 X2 HiE0 AL

04 does 05 wore 07 Grace= A0l a7t HL|?
.............................................................................................................. ; 08 4| Ol X|AAME F2otct X4 AU\}% QEISIAIL|?
A 01 2E 2PS2 159 010|SS iR H0| ARSI 09 152 I B2 22 oLt

02 IS T £ ARIS BHCE 10 H) ofSAS T0] 1040217

03 Bellat OFXI0ll 7 Loisich, : Vietnam HIE%

04 22|= K20f TUAES X5 Hert .

05 2| stu= HE 8A| 4020 ARBIC - E 01 3= 348t mARH OfLIct,

red-bean sherbet E4 — Tl Ttst WA ORI,



03 lan= Of&lo]

04 22| Hat L= 10
21 3 i 10AD] ol 2

exercise &

G 01 L= 1 Yol *AS EOkSHR| Mt a2iLt X122

JNSE Z0fRIC

02 MaryE O Aol =tmol| Zo{A ZEX| ARk 2Lt
XZ2 stwol| Zojzict,

03 Janedt L= Mol ict f2l= 2 Aol U
ALt

04 OS2 1 YAl 27|17t SiUCE J2iLt XIF2 i ¢!
7|7+ At

05 OILE= 1 ZAO| HIOISRIS BRI Uk d2iLt
xiZe olgig &

popular 27| U=, FHs

] !
Mggoz 4% Upgrade

H 01 finished
(2"&) They didn’t finish their work very
early yesterday.
(el2=2) Did they finish their work very early
yesterday?
02 looks
(582) David doesn’t look sad these days.

HIZIF

(2lZ2=) Does David look sad these days?
03 was
(283 She was not (wasn’t) very busy then.

(9/232) Was she very busy then?

I 01 wrote poems
02 keeps a diary
03 cleaned her room
04 brushes her teeth
05 had cereal for breakfast
06 has dinner with his family

H 01 252 ofdl i Y¥ aE0| U BHCH
02 Davide 2F &0 HQlCt.
03 1ld= njf of Hpect
finish 2LHC}, OFX|CH

I 01 Eva= Ol AIE MCh
02 Eva= Y 27| L1,
03 Lucye= oMl 49| s HASHC
04 Lucye= Y 0|E S=Ch

05 Max= OfX| OFE AALE Al2|¥E HACL
06 Max= Ui 19| 7tEn MY AXE H=Ct
poem Al keep a diary Y71 MLCt
Fa o, -
o OIERAIN|
v
JOIR SHAL |--ovovveeememimsiiiiiiiiines 22p.86

2 Li= 3 S AIE Zo|ct,

Sale o o TVE 2X| %2 Zolc,

Ltet slolzista) Zei?
— g, 33 ok / ofL, 224Xl %2 ok,
go hiking stoldata] 7ict =& ofgsta] Jict

3 Amyt Ch2 Zo0| S22 west Zo|c,

ol o ol £7 #7|2 HA| 22 ol

4= wat Sof 7= & HL?

— 8, 3 ok / ofL, 22X %2 ok,

sc WY 832z e ok

—

I
]

Grammar Practice =2 pp.87-90

]
w gol 2x12 i Build up

A 01 will make 02 will dance 03 will study
04 will stop 05 will plan 06 will listen
07 will read 08 will try 09 will cry
10 will see 11 will open 12 will come
13 will go 14 will take 15 will have
16 will draw 17 will shout 18 will leave
19 will write 20 will run 21 will see
22 will drop 23 will watch 24 will answer

B 01 am going to be 02 are going to make
03 are going to play 04 are going to sleep
05 are going to sing 06 is going to drink
07 is going to cook 08 is going to meet



C 01 visit 02 play 03isn’'t 04ride 05 read
06 Will 07 meet 08 won’t

D 01 to make 02 Jessica eat
03 will not (won’t) invite 04 will do
05 are not (aren’t) going to

E 011 wil, Il won’t 02 heis, heisn’t

F 01 willgo 02 will cook 03 will have
04 will invite

G 01 is going to visit 02 Are, going to take
03 won't study

'E.*Xf"‘._ £ O|R0llM 2 Zo]ct,
ol

X = Nolch.

D 01 Lisas 2l2UHl0|=E BHE Zdo|ct,
02 Jessicas= 2= 20l TIXtE HE7W?
03 L= JakeE 22| Zofl =ietx| 4= ZolCt,
04 4= CH2 0| XFESA 2 & Ao|C,
05 Katherinet L= 3D F3tE EX| 942 Aot
invite ZCHsICt  volunteer XFESAR| AHLUZQI

E 01 20| o{=x|7] Hoil L= a=xofl 2 Hu?
— 3, d& 70}, / of, aX| &2 7ok
02 O= Ui 2hof| SHEIM R2E HFS HL?
— 3, d& 70}, / of, K| &2 7ok
dark O, &

F 01 252 ol = Uedol| aZlstz2] 2 Zio|ct
02 ot= XY AAE 2| Aol
03 L= =23 70|32 o =25 HE Aolct
04 4= Zoll ae| stu PSS =i Ao|ct,

=
meal AL classmate &t ZI7, S5

G 01 Harukie CHS 2ol Y=20|A LIS W28 Zdolct,
02 U2}t Alexandras HHSE ofdlig & HL?
03 L= S0 3Rtk ¢2 Aol
take a trip Gi&siCt  Chinese £=0f; $=¢!

|
@ sagez 42 Upgrode

H 01 1 will not(won’t]) wash the dishes.
02 Will it be really fun?, it won’t
03 The children are not(aren’t) going to play
baseball after school.
04 Is she going to take a rest this weekend?,
she is
I 01 will go swimming, am going to go swimming,
am going swimming
02 will leave, is going to leave, is leaving
03 will you do, are you going to do, are you doing

H 01 L= 47XIE K| &2 Zolct,
02 JA2 FL MHO|USTF?
— O, J2{X| 242 7{of.
03 11 olo|E2 Yut F0fl OFE otX| 242 ZolCk
04 1Ll ofet 2ol FAlg FHER
— 8, a2 ok,
take a rest

:10II
flI|0
ﬁ
oli
Il

Actual TEST =22 pp.92-95

01@ 02® 03® 04B® 05D 06 Q
070 08® 09@ 10® 11O 126
13@ 140,06

15 Ken will not have a birthday party
16 @ 17 are

18 will (am going to) play the piano

19 go fishing 20 studied math

mo
r

01 Tom2 =3 MY A\l = AHZS oict,
these days(2Z23)= SIMAIMRL A 22CH 07t

3213 0|22 takes7t YHLY,

02 Mary= LiH0ll E7|2 o3ES Z Zo|Ck.
next year(Ld, Ck= sl)= DI2HAIKIQE S| £t what
M Awill +SAFE) FEf7H Lot

03 @ U= BFRE & HL?
@ ud Iﬂl = Zo|ct,
@ L= M2 XD UX| §LRACE
@ 352 TElo| & Zolct,
=2 TfElof =T
fEl= MF=0i| = T2l Z Ao|ct



04 @ X020l Tim2

05 @ U= 2412t

06 A: Tom=t Jerry= U 2

® SMZIHHS Dl2HE LEths Tt § A0 EEE
717k2 O[2HE LIEf 4 ch
O — What will you do?
@ — It will rain tomorrow.
® — | didn’t have a book.
@ — They will come to the party.

They came to the party.
island

=0l UAAC.
@ e2l= WY Eoll s Zolck.
® J4e o ol 25 YR

@ a2 Yat 2ol €Al

AAH 2Fo| =lojof it mEM will sleepe L+71§§°|
slept® 1IX0f it

@ Evan2 LH°E
® Jane2 0|H Z2o| FAAM HE A
<2| OftHXl= O
Zdo|ct,
® Ctad ofdlol= akaE Zolct,
9| two hours ago= UHE LiEt= 0|22 Bl
Ztoll= Did7t S01710F kX2t LiHXl= 25 O[2{E Lt
e ZLtomorrow, this Friday, next weekend,
next morning)2t &7 MY T2 willo| S0{710F BhCt,
have a party TEIE ECt sunny 333 32
A & oiFolL?
B: 152 WY ZolM S & 7ok
QIZAPL U= be going to AEE2 AZAE W Ao
MA (2lEAt+be&AKam, are, is)+F0{+going to+&
AHEE ~?)22 M1 be going toZ E$TE Tom and
Jerrye= 321E E4H0|22 TheyZ HaloF SiCt, w2k
WeZE They2 10} Sict

\J

|0

07 @ John2 Oj3gtof Lt2 &2 RUCE

@ a4 Mol & Zo|ct,
@ L= 2A1Z Holl sHIE Fict
@ JZS a EU\I01I Otz MolQl=
® ot XiF S Y AIct
@ — will be, ® — did, @ — had, ® — is
reading2& 11X0F BiCt,
have a dream &5 Lt

AlZts EiIo

08 Annac= 3I2[|ADIATIEE £ ZAO|CH

09 A: U= 2% 9Alofl B3| &7 %

100 3s2

O[ZHAIMIE LIEH= will write T4l be going to &
Ei2l is going to writeE & & UL

UE HLI?
B: OfL], J2{X| =2 70} L= 2= 6Al0l Eofl Z 7ok
2F gAlof Eoil & 72t 2F 9Aol= o7|of g2 Aol
22 2ol tEE oiof Sttt willel 22201 et 2o
e {No, &0{+won’t.)0lCt,
still K5

Lte| A OftEo] 2 Zo|LCt,
@ 1= 6AI01I &g ot
@ L= o] FZof| XHEAHE & Aot
@ 2= XI1Z oFEol| 7t Ut
® J4es R & 4 Aok
= KR to the ball parkel to7t &AMT!
Efo|, LiHXl= 25 <{be going to +SAFX)O|CH
ball park OF%

ogr

NnNu=sI1ds (of) Zag ZAolct,
willo] YSSZ O|2fE LIEtLl= 0| 2fof St kA
MHE UEHHE T2l at that time(d ZAlM2 £ 2 ¢
ot @ Wit S0 = BES AIZES LIEHHX| §2eaz 1pAH,
oixfl, Oj2f 250 o{S2l= #30|ct
@O
@ ot Zof
@ kS Fof
® ol EQo]
12 2(s) Cha 2ol 7222 0|ARY Ao|Ct.
be going to2 besAt= o olFut sof w2t
am, are, is£ HIFCE areZt ALBEZE 221F0|Lt S+
0| efo} sttt ®& 321 to0l22 Holl is7t 2L,
O Lol BErHs
@ Tomt Mike
@ Lol gt s
@ 1 oolE
® Lto| ZOoHHX|
13 OS2 0|H Lo SS R (& Aolcy).
this weekend= 0% &Y, & CUiQ= LS 9|0|
S22 ofAIXIZE LTt will not going2 EXE HH
ot oA (be+SAtEE-ing)= O[2iE LiEtl= Lt

S 204 717k2 O[2HE LER 4~ QUCH



14 © 22 0=0llA 2ACh - 20Q: 2= OjUE FAE AWLRY

@ L= HE Hofl M HFEE Mk ~ A: J4E fets SRYSELICL

® Uz oMl 232 AUL? A=HolM 78 2Y 2= 0LV} o SRE WSS &
@ O} Foll= M7t 22 ook ‘ o ot opAel Ho|22 BAAMZ ettt SAt study2
® L= W stwofl 7kx] 42 Ao|ct, ~ A2 studledOIEf.

® few days agoe I7E LIEHf= LO|ZE am
going to buyE boughtZ X0} 51, ® tomorrow
= O|2E LiE= 0|22 didn’tE will noto|Lt =
Ul won’tE TXOF Bt ESH (Dnf 22 Yol At
oLt T2 SHXHAIMIZ £20t

freeze &Lt
15 ~olX| 42 Zolct = 2olo| OleiAIM will] BEXMES

fts W= will not (won’t) +SAIEE)SZ ALY,

16~17
Chris: U= &7t 712t ¢ 2= & olFo|Y?
Henry: Li= 22| =25 S22 oFolof U= Xl =2

otoll AbA,
Chris: ¢Ixl 202 Mg AL?
Henry: Ci2 = 229
Chris: AX0IM He FRNE & AL?
Henry: Ltz CHEX[| O-ES = 7{0F
16 O now(XI2)2k= 20| ooz SRl AR, AEIE Ligt
Lh= SIMHAIKIE MOF SiCH F=0{7t 3013 H21 Shel|=

2 lives7t &gt

17 O SXZIdH2 D[2HE UEti= 2ot &7 2o 2PEl 7t
72 OIHE LIER & QUCE Q2APL U= SIiEIREY o2
=2 (YUZEAt+beSAHam, are, is)+F0{+SAE™-ing
~7)0| FEHE 20t

X|7|(play the piano)= =0 UCL m2tA willOlLt be

going toE MM U & LS £ & UL,

19 Q: 0L O UL 2= ENR?
A: OHE HAlsH &2 AL
AZ®EAM 78 72 LYol HAIGHE] 7H71(go



05 Lk= Z20il Z Zdo|ct.

come in EH<Lt

L p.98
2 Lt= m|Ot=E g £ QUCh
Li= EREE S8 4 ik 5
Aot B0l 271 @ 2zoz 24 Training
— U, 22 EUC / ofle, 1 4 gl
e H|7t 2 Ziolct - C 01 be 02write 03 swim 04play 05 cook
L2 0| x| 942 Zolct, ~ 0égo 07keep
L= M Copct D 01 you have 02 wasn’t ableto 03 able to
Ryan2 Ci2 F0 f2IE Y2 4 US Ao|ch 04 Sure. 05 could 06 will be able to
b= 7t ECh E 01 maynot 02 cannot(can’t)
M= 7tid= eF ok, 03 is not (isn’t) able to 04 will not (won’t)
APt XIS 7t ELK  F 01will 02can 03may 04 Can, May

i EALC NS PIpN ===l

05 Can 06 may not 07 won’t 08 could
742 AtAlo] oKX= RELE,

09 may not

best ZM(Q| L2) F2  true AMIQI FiAlol
G 01 drive 02 go 03 will 04 Will Tom go
. C 01 2= DAMX|E 220}
Grammar Practice =2pp.99-102 02 4= T1140] ZT0)H HXI= & Zio[ch
L 03 U oo ma s 4 26U
#é | 2812 742 Build up _“OT _E_TC’ETM '
; 04 Eric2 HUAE & £ giCh
A 01can 02may 03 will 04 may 05 May 05 JUE U= SAS 22F £+ UL
06 Will 07 could 08 Can 6 22| OMHXI= @5 US 53] JHAIX| USX|E B2t
B 01 can(may) come 02 can move 07 Lt= o5& X7 IR,
03 may be 04 will not(won't) tell 05 willgo keep one’s word &S AI7ICt
A 01 1= OIS 04 & Tt 4 ct D 01 IS SBE & DHlal?
02 Jul= 428t 7 ofx|= =2ct 02 LH= Off L{ofl Faksr 4 Ak,
03 Liam2 & 22| Zofl & Zoct, 03 LH= o] Fatof L= gk 4 ot
04 A2 0 ZOIFOIA SAlS 2{ofM OF EL|ct 04 TAlo| SRS ME ELIQ? — 220|F.
05 L7t 42| HIg M= E|L|? 05 lane 1 A0l 1,5000[E{2 s 4 UAUC
06 ME ZoAFAIZOIR7? 06 LI= L1 o] &2 92 4 UL Zo|ct,
07 2 19| $HE & 4 iUt drink S&: DIt bathroom &4, 24

08 U= Hiol=

Hl|0
re
g
et
+
0
r
=~

~ E 01 247t 521 200] ofdx|= 2ECt
B 01 U sofet= &ct 02 &2

o 4 gict
02 Lt= 0[718 S&t 82 4 itk 03 Lf ISMS AHOIES 2 4 girt
03 152 S2X|E 22Ct 04 152 LHY X253 JkK| S Zolch
04 1= ARLS 5| %S Zo|ct wrong 52 2= go jogging ZZs it



G 01 Y SLF= %12 288 & 9IL? Leo= JXR0IAN 7|XHE ZOtEIOF BiCt,

= AN
02 Ul Holl 7hke ot =i, Hi= XI5 710k Sttt
03 4= 998t 7147} 2 Zo|ct, JiHE J49| GSMES =otof 3Lt
04 TomE CIS = 320 ZAfRol 2 7L? JE Z"e et gict,

HZ7H o47] Stotok Limt?

]
@ Magoz 42 Upgrade
Grammar Practice =2 pp.105-108
H 01 Will he start tomorrow? § ]
02 Diana is going to visit Seoul next year. # gtol 2x2 /1d Build up

03 Can | borrow your umbrella?

04 Asher can go to school on foot.

05 She is able to play badminton.

06 It may not be safe.

B 01 doesn’t have to come 02 had to study
03 don’t have to walk 04 will have to wait

02 Can you keep a diary ) .
03 May | take your order? 0o didnthavetorun 06 hastoarve

04 Yura will not clean her room. A

I 01 You will be able to go there

H 01 2= i Exal
02 Dianak U0l Ai2S W2g 2ot 03 SI8SE 372 Sl siof et
03 K7t EAlo] 2412 Yals Frie? - 04 2= AN 20| Bl
04 Asher= Z0{Af 8tmoj 2 05 L= 9 ol 2 Wet g

polite 21&s Z&8t  liar AXNHO|

see a doctor ZIES gt

B o124

=

02 R2l=
Z:

=

M 12 - should/must, have to : 04 252 7lctz{o}
B o :
06 Tome ZxfHo0} Bict,
L RSO OOS =22 p.104 arrive ={oirt

1 UHe =HIE sliof st

T S0fMs of Eict ]
M7t EXt 70F BHEQ? % 2R Y Training

— i, T2HoF BHLICH / ofLlR, T2l o ElLick,
4= EHAIS EFs A BACH
2 2= FAIS0| BEof BiCt

M7t Xlg 2%S sHok sitR?

C 01 have to 02 had to 03 Should | 04 be
05 Does Kelly have to 06 Should

D 01 haveto 02 doesn’t haveto 03 must

— 4, Tzof BILICE / OlL, 1 R gaLICh 04 must not 05 should 06 should

a2 Aol S=ielct, - E 01 shouldn’t 02 answer 03 don’t have to
He 2£2 5= A S0 04 must not 05 come

L 282 ok Bt ~ F 01didn’t have to 02 Must we stop

He =AM =83 2A0{0F ottt : 03 shouldn’t make

26 gy



G 01 must be 02 doesn’t have to go
03 should take 04 have to wear

C 01 JennyE= 19| MU MBS A TQT} QUL
02 Sean2 Ofzlfoll 12| o MIO|E ELHOF 3HCt,
03 X7} L™ AojLtof sHIR7?
04 U= U2 &2 20| SEeiCk
05 Kellyz M4 AlAt & H74XIZ 8H0f sHL?
06 J14= TS 2shof Stct

essay OIAM0], 22

-

D 01 H= =01, M=2{0f &,
02 J= Ui SXfo|ct, ZLE == Y LRIt gt

04 Zo| I1H°°;; .

05 HAT} 7H5 &} °'01 = 7*01)\‘| Sfulofl 7k= Zi0| EUC

06 L= 2= 43 AlRol ULt l—h_ Z|ME Cfsof sict.
hurry M52 save ZfsiC, M=t

dangerous &8t full 7t5 £, é fot

E 01 Ashert= 512 Y ZARE AYS siis oF Fct
02 JohnZ 1 Z=of =alof Sict,
03 R2l= QHC=E oAt ERTt glct
04 |—1i ol A27|Z H2{Ad= oF I,
2| ot Xl= L™ Foll 2 0f Sict.,
all day st& Y, 28 throw HXICH, H2lch

trash 27|

F 01 22t= g0 Qs =ert gidct
02 2= HW7t=0l| HEOF SHLtR??
03 He 20N mHS

red light #ztg, 2ds
make noise HSCH AR =t

@ sazoz a2 Upgrade

H 01 must not park 02 must wear
03 must not walk 04 must not take

I 01 He must be Chinese.
02 You should not be late for school.
03 Jack must not leave his bike
04 Stella didn’t have to hurry.

H 01 of7ofl =xtatH QF ELict
02 QHFIHES O{Of ELTt

03 X 2I1E 2ojMe=
04 O47|M AHZIS ®lo™ o LTt
I seat belt ¢THE

ot Euch
park FXfstC
grass =, TiC|d

Actual TEST | =il

01® 02@ 03® 04©@ 05Q@ 06 ®
07® 08@ 09@ 10® 11Q 126
13 @ 14 must not swim 15 must rain soon
162 17@ 18D, @ 19 three

20 go swimming

01 A7} ZHAlo| Ma7|2 ME De?
~elle Erh ~allE Eof £ 52, s7tel can &S
Ab may@t HHY & 4 itk

oo

02 L= W st Alglo] ot J2iM L= E45| SHaiot
eic.
‘~ajoF Y

= 9FE LIEHHE have to= ESAt
mustet B £ &

C

B

0

03 R2l= 20N HICHE & & ULk
be able toe= ~& 4 Ct 9| oU|Z SH2 LIEILE=
ASAt cant HHY & &+ QUL

-

04 O Peter= xI2 2%8 4 it
@ Mary= xI2 7tof i},
@ 1= oAUX|E BE2C}
@ 152 e gof 1S9 Bnde diast Zio|ct
® 22l L= AojLiof it
@ Mary= 3913 B8 20{0|22 has to go2 M
OF Stk

05 @ A: A2 2015 & 4 A&LMN
B: ofLL, L= OfgLCt
@ A: U7t 0|42 Atof EHL7F?
B: 4, 412 a2 & & AsHch
®A: & =HQ?
B: IR HESLICE
@ A: M7t E017tE =LR?
B: of4e, J2i= ELct
® A: 0| EQof Lt A J3t =a?
B: of, I2¥ e glol.
@ Will you ~?= ~&2i?7 2h= 2nj2 oiholA|
FVIE HE mf ©ol 220 No, thanks.= dUigel #&

-



£ Mol BH0|22 hste] S50| XIHARLCL HRE
S8 M= Yes, please. (U, FAR) 2 HotH =ct
@O — No, | can't.

@ — Yes, you have to.

@ May | ~?2 7t2 21 U=t NoZ HalzH =5
7t, SX12] 2o|E F11 U0{of Btk m2td No, you may
not. £= No, you must not.9§ e 4 ok

® Will you ~?& Mot BFsts ®dlo|22 &4
=2 HEE gdlo $tot 2E2R2E Xsk= you don't
have to.E= HatH O{MSICE HESIH I'm sorry,
but | can’t. =2 Eg 4 UCt

06 @ Julie= 142| HOIE =2tof Bl
@ 2= HolM HEE =UR?
® d= 571 2015 e 4 Uk
@ XIg =HIE shof siLte?
® 4= Xz 4 22
© F0{7t 3¢!

7t stk

H
0
_\,J_
Q
ful

SheOIDE doesn’t have to

Oﬂ

 must helps — must help

@ May | can stay — May | stay

® cans — can

@ Do | must do — Do | have to do
language 2104, &, =04

07 -0 =
- LI ojg 2o
J&!

‘L

08 O ~Ux= RELY = 9Joje FE2 LEli= ASAh=
mayO|ct,
09 O ~slide oF Eck = 2nje] &8t FXIE L= U2

must notO|Ct.

10 O ‘~é&fjof stk = olo|e] oJFLt £E1E UEHHE ZE A=
shouldo|Ct,
11 O Y= oA ZXY 7k Al 2740t

f
@ 22 Aol SZgict
® U= XiZ a%g ¥ Lot Yt

@ E}AIO |:L xlo“ 7|.

12 A: APt X RRRIZ A e
B: E&LICh
Okay.= ‘E&LICE 2k 49 ESio|ct ®F HMelst
LMKl 25 &2 #S0(Xgt ®= D|okstX|ot of =
2t= AHEe| HEHOo|CY,
seat X2, ztM

13 A: 047|ofl M S HF0= L7

B: O, 24 ot Fuct F4le] S JHX|1 T Mot
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